Glass Standoff (000 0000 00000 00000000 CO000 00 00000 000000 00000 RO0000 00000 00000 00 00000
000000 00000 o00 bodtoo Doodooo fohodooo foboodoo Oooodooo boooo dd0oo -0doooo Dooo 0o bodooa
(0000 O0000oo boo -0od 0o Qoo Dodoodt doooo dooodoo Dodooo 0do doddfoodo Qo Coodoo ba Dodoag
(00000000 QOO00O0 d0oodon 0o bodooo doood.

000000 COg




r

TTITEEErTT Ty
T YT TR ET IR

= s TS R L E AR AL

_ 0000 0oa

(00000000 000 0o Qoa

00000 00 dotoodoa



T=1.5mm rubber washer

44

o0

f_,fmﬁ screw

Uuuooooon ooob ooobooon

(00000 Q0000000 d0ooooo.

9.5 mm

508 mm
Mounting Stud
{Included)

for Use With |
12 or 19 mm Glass

SR ey




- STAND OFF

Part No. Material Finish Body ' Bolt size
' ' | = 30x10; 30x25mm |
= SF-30 = 40c10; 40x30mm = M10x120 bolt
= SF40 =AISI304 = 3Satn = 50¢12; 50x30mm = M10x72 wood screw
= SF-50 = AlS]| 316 =Miror = 50x12; 50x50mm = MBx100 bolt
= SF-50A = silicon rubber gasket = M8 x72 wood screw
included
[ N e T . =
Part No. Material Finish Body Bolt size
= hollow type
& s = AlSI 304 = Satin = 38x7.5;38x38mm = MB8x70 hexagonal
=AISI316 = Mimor = silicon rubber screw
gasket included
Part No. Material Finish Body Mounling plate size
® 50x10:50x30mm
= AIS| 304 = Satn 5
SF-50T shisinie] e = silicon rubber 200x%100%10mm

gasket included

(00000 OO0 d0o00oo Dodoodo doooo 0oood 0do 0 0Rhooo dobodood dofoodoo Dodoo boo 0o dood.













: j,...._ifffi. N J

J..J;.J...-r..u... i

,

e . o
: o=
Y o |

i

e

L




0000000 000






